1) Diameters of 20 rivet heads in 1/100 of an inch are given below:
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a) Compute the mean and standard deviation of the rivets diameters.(2 pts.)
b) Find the percentage of rivets with diameters within 2 standard deviations from the mean. (1 pt.)

c) Draw a box plot and comment on it. (5 pts.)
2) An engineer measured the voltage of 24 brand-new 1.5-volt (AA) batteries. The data are classified in a frequency table:

	Interval
	[1.455 - 1.555)
	[1.555 - 1.565)
	[1.565 - 1.575)
	[1.575 - 1.585)
	[1.585 - 1.595)

	Frequency
	2
	5
	10
	5
	2


Calculate mean and standard deviation of the voltage of the batteries. (2 pts.)
3) If a driver consistently uses motor oil A, the probability of a motor repair prior to 75000 miles on the odometer is 0.04; however, if he uses motor oil B, the probability is 0.08. In a test sample, 40 cars have been consistently lubricated with motor oil A and 60 with motor oil B. 
a) If a test car is selected at random, what is the probability that it will require repair work before being run for 75000 miles? (3 pts.)
b) If a car requires motor repair prior to 75000 miles, what is the probability that it was lubricated with motor oil A? (2 pts.)
